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Multiple	choices	

	

	

	

4.	Find	the	value	of	𝒎	so	that	𝒇 𝒙 	is	continuous.	

	

	

	

1.	
Find	a	value	for	𝒎	so	that	the	function		𝒇 𝒙 = 𝒙𝟐 − 𝟓			𝒊𝒇	𝒙 < 𝟒

𝟑𝒎𝒙					𝒊𝒇	𝒙 ≥ 𝟒 	is	continuous.	

	 a.)	𝒎 = 𝟏𝟏
𝟏𝟐
	 b.)	𝒎 = 𝟏𝟐

𝟏𝟏
	

	 c.)		𝒎 = 𝟒	 d.)	𝒎 = −𝟒	

2.	 The	value	of		𝐥𝐢𝐦
𝒙→𝟎

𝟒𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎	𝒊𝒔:	

	 a.)	𝟎		 b.)	𝟏𝟎		

	 c.)		−𝟏𝟎	 d.)	−𝟏		

3.	 The	value	of		𝐥𝐢𝐦
𝒙→𝟒

𝒙𝟑 − 𝟐𝒙	𝒊𝒔:	

	 a.)	𝟒	 b.)	𝟓𝟔		

	 c.)		−𝟓𝟔	 d.)	−𝟒		

a.	 𝒇 𝒙 =
𝟒𝒎𝒙 − 𝟓				𝒊𝒇	𝒙 > 𝟐
𝟐𝒙 − 𝟓𝒎					𝒊𝒇	𝒙 ≤ 𝟐	

b.	 𝒇 𝒙 =
𝒎𝒙 − 𝟏			𝒊𝒇	𝒙 > 𝟏
𝒙 − 𝟐𝒎					𝒊𝒇	𝒙 ≤ 𝟏	
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5.		Evaluate	the	following	limits.	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

a.	 𝐥𝐢𝐦
𝒙→𝟐

𝒇 𝒙 =? 										𝒇 𝒙 =
𝟑𝒙 − 𝟕				𝒊𝒇	𝒙 > 𝟐
𝟐𝒙𝟐 − 𝟓					𝒊𝒇	𝒙 ≤ 𝟐		

b.	 𝐥𝐢𝐦
𝒙→𝟑

	𝒙𝟑 − 𝟑𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎 =?	
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ANSWERS	

Multiple	choices	

	

	

	

4.	Find	the	value	of	𝒎	so	that	𝒇 𝒙 	is	continuous.	

1.	
Find	a	value	for	𝒎	so	that	the	function		𝒇 𝒙 = 𝒙𝟐 − 𝟓			𝒊𝒇	𝒙 < 𝟒

𝟑𝒎𝒙					𝒊𝒇	𝒙 ≥ 𝟒 	is	continuous.	

	 a.)	𝒎 = 𝟏𝟏
𝟏𝟐
	 b.)	𝒎 = 𝟏𝟐

𝟏𝟏
	

	 c.)		𝒎 = 𝟒	 d.)	𝒎 = −𝟒	

2.	 The	value	of		𝐥𝐢𝐦
𝒙→𝟎

	𝟒𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎	𝒊𝒔:	

	 a.)	𝟎		 b.)	𝟏𝟎		

	 c.)		−𝟏𝟎	 d.)	−𝟏		

3.	 The	value	of		𝐥𝐢𝐦
𝒙→𝟒

	𝒙𝟑 − 𝟐𝒙		𝒊𝒔:	

	 a.)	𝟒	 b.)	𝟓𝟔		

	 c.)		−𝟓𝟔	 d.)	−𝟒		

a.	 𝒇 𝒙 =
𝟒𝒎𝒙 − 𝟓				𝒊𝒇	𝒙 > 𝟐
𝟐𝒙 − 𝟓𝒎					𝒊𝒇	𝒙 ≤ 𝟐	

b.	 𝒇 𝒙 =
𝒎𝒙 − 𝟏			𝒊𝒇	𝒙 > 𝟏
𝒙 − 𝟐𝒎					𝒊𝒇	𝒙 ≤ 𝟏	

	 𝟒𝒎𝒙 − 𝟓 = 𝟐𝒙 − 𝟓𝒎								𝒙 = 𝟐	
	
𝟒𝒎 ∗ 𝟐 − 𝟓 = 𝟐 ∗ 𝟐 − 𝟓𝒎			
𝟖𝒎 − 𝟓 = 𝟒 − 𝟓𝒎	
𝟏𝟑𝒎 = 𝟗	

𝒎 =
𝟗
𝟏𝟑

	

	

	 𝒎𝒙 − 𝟏 = 𝒙 − 𝟐𝒎									𝒙 = 𝟏	
	
𝒎 ∗ 𝟏 − 𝟏 = 𝟏 − 𝟐𝒎										
𝟑𝒎 = 𝟐				
	

𝒎 =
𝟐
𝟑
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5.		Evaluate	the	following	limits.	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

a.	 𝐥𝐢𝐦
𝒙→𝟐

𝒇 𝒙 =? 										𝒇 𝒙 =
𝟑𝒙 − 𝟕				𝒊𝒇	𝒙 > 𝟐
𝟐𝒙𝟐 − 𝟓					𝒊𝒇	𝒙 ≤ 𝟐		

b.	 𝐥𝐢𝐦
𝒙→𝟑

	𝒙𝟑 − 𝟑𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎 =?	

	 𝐥𝐢𝐦
𝒙→𝟐>

𝟐𝒙𝟐 − 𝟓	 = 𝟐 ∗ 𝟐𝟐 − 𝟓	
𝐥𝐢𝐦
𝒙→𝟐>

𝟐𝒙𝟐 − 𝟓	 = 𝟐 ∗ 𝟒 − 𝟓	
𝐥𝐢𝐦
𝒙→𝟐>

𝟐𝒙𝟐 − 𝟓	 = 𝟑	
	
𝐥𝐢𝐦
𝒙→𝟐?

𝟑𝒙 − 𝟕			 = 𝟑 ∗ 𝟐 − 𝟕	
𝐥𝐢𝐦
𝒙→𝟐?

𝟑𝒙 − 𝟕		 = −𝟏	
	
𝟑 ≠ −𝟏		

	 𝐥𝐢𝐦
𝒙→𝟑

	𝒙𝟑 − 𝟑𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎 =?	
𝐥𝐢𝐦
𝒙→𝟑

	𝒙𝟑 − 𝟑𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎 = 	𝟑𝟑 − 𝟑 ∗ 𝟑𝟐 − 𝟐 ∗ 𝟑 − 𝟏𝟎		
𝐥𝐢𝐦
𝒙→𝟑

	𝒙𝟑 − 𝟑𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎 = 𝟐𝟕 − 𝟐𝟕 − 𝟔 − 𝟏𝟎	
	
𝐥𝐢𝐦
𝒙→𝟑

	𝒙𝟑 − 𝟑𝒙𝟐 − 𝟐𝒙 − 𝟏𝟎 = −𝟏𝟔	
	


